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Transformations
									          	

1. What type of transformation moves P(3, -7) to P’(5, 1)?

H Geometry	Midterm Review	Study Guide

A. Reflection
B. Rotation
C. Translation
D. Dilation


2. If the result of (x, y)→(x – 1, y + 2) is A’(-5, 2), what is the image, or A?
	
A. (-6, 4)
B. (-6, 0)
C. (-4, 0)
D. (-4, 4) 

3. [image: [image]]If P(8, 5) is reflected over the line y = 3 and then translated according to the rule (x, y)→(x – 1, y – 4), what quadrant will P’’ be in?

A. Quadrant I
B. Quadrant II
C. Quadrant III
D. Quadrant IV

4. Triangle 1 is transformed as shown in the diagram, resulting in Triangle 2. Triangle 2 is transformed to create Triangle 3.  Describe the combination of transformations (123).[image: ]
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A. Dilation, then Rotation1

B. Rotation, then Translation
C. Reflection then Translation3

D. Translation, then Rotation


5. [image: [image]]If ∆MTV is reflected across the y-axis, what is the resulting coordinate of T’?

A. (5, 4)
B. (-4, 5)
C. (4, -5)
D. (-5, -4)


6. What type of transformation results in a figure that is congruent to the original one?

A. 
B. Dilation
C. Stretch
D. Isometry
E. Not given
















7. Line Segment JK with coordinates J(-1, 1), K(-3, -1) is rotated 180 counterclockwise to produce image J’K. Which of these transformations of JK would produce the same image J’K’? 

A. 
B. Rotation of 90 counterclockwise
C. Rotation of 90 clockwise
D. Rotation of 180 clockwise
E. Rotation of 270 counterclockwise


8. A figure is transformed according to the rule (x, y)→(x + 1, y - 4). What transformation has taken place?

A. 
B. Translation of each point 1 unit to the left and 4 units down
C. Translation of each point 1 unit to the right and 4 units down
D. Dilation by a scale factor of -1/4 
E. Reflection over the x-axis, then translated up 4 units

9. The top shape (pre-image) has been translated to the bottom shape (image). The translation rule is:
[image: http://www.ck12.org/flx/show/image/user%3AYmdyZWVyQG1pdGFjYWRlbXkub3Jn/M7-08.08.13.png-201207201342833887327634.png]

A. 
B. (x, y)→(x, y – 2)B
A

C. (x, y)→(x – 7, y)
D. (x, y)→(x – 2, y)
E. (x, y)→(x, y – 7)
D
C



10. Which two transformations result in the same shape as the above transformation? B’
A’


A. Rotation 180, then a Reflection over the y-axis
B. Reflection over the x-axis, then a Reflection over y = -3.5D’
C’

C. Reflection over the x-axis, then a Reflection over y = -1
D. Reflection over the x-axis, then a Reflection over the y-axis

11. Given A (-5, 7), if A is transformed by the rule (x, y)→(x + 3, y – 8) and then reflected over the y-axis, what is A’’? 

A. 
B. A’’ (-2, 1)
C. A’’ (2, -1)
D. A’’ (2, 1)
E. A’’ (-2, -1)



1. 

Perform the given transformations.            					


12. [image: [image]]Reflect the figure over the line y = -2.














13. Rotate 180 counterclockwise around the origin, then reflect over y = x.
[image: [image]]















Given the quadrilateral ABCD, answer the following questions[image: http://www.ck12.org/flx/show/image/user%3AYmdyZWVyQG1pdGFjYWRlbXkub3Jn/M7-08.08.02a.png-201207201342833884511121.png]



14. Reflect ABCD across the line x = -3. Draw and label the resulting figure.




15. Is this an isometry? How do you know?







Congruence 

16. 
Complete the congruence statement: ∆____ by _____.


a) by SASH
J
G
I


b) by SAS

c) by HL

d) by HL


17. 
If the angles in a triangle are , which order shows the sides from greatest to least?


a) 

b) 

c) 

d) 
18. 
[bookmark: _GoBack] What is the value of x if we know the following information: 

a) -1
b) 10
c) 13
d) 120


	

19.  Given: , 
Prove: JLK  PKL


            Statements
	

K
J
L
P




Reasons










E


[image: ]

20. 	Given: B


Prove: D
C



Statements				ReasonsA




















Similarity and Trig

21. Are the triangles shown below similar? If yes, how would you prove it?
	[image: ]A. Yes, by AA similarity
B. Yes, by SSS similarity
C. Yes, by SAS similarity
D. No, the triangles are not similar



      22. Which postulate or theorem would prove these triangles to be similar?
[image: ]A. ASA similarity
B. SAS similarity
C. AA similarity
D. The triangles are not similar





23. 
Find the length of .A. 16
B. 7.2
C. 5
D. 4


[image: ]



24. 
Find the length of .A. 38
B. 33
C. 50
D. 51


[image: ]




25. In a 30-60-90 right triangle, the length of the short leg is 5.  Find the length of the hypotenuse.



	A.  	B.  10	         C.  	       D.  		E.  None of these


26. The length of a diagonal of a square is 20 inches.  What is its perimeter?





[bookmark: OLE_LINK1][bookmark: OLE_LINK2][bookmark: OLE_LINK3]A.  	in.	B.   in.	    C.   in.	D.   in.  E.  None of these



27. The side of an equilateral triangle is 18 meters.  What is the height of the triangle?




[bookmark: OLE_LINK4][bookmark: OLE_LINK5]A.  9 m	B.   m         C.   m	D.   m		E.  None of these




B
A
C
4
3
5


28. 
Given , what is tan B = __?   






A.  	B.  		C.  		D.  		E.  None of these


29. 
In a right triangle, sin A = .  What is cos A = __?




A.  	  B.  	    C.  	D.  Cannot be determined     E.  None of these



30. 



In right , A and B are the acute angles.  If sin A = , what is cos B = __?




A.  	B.  		C.  		D.  Cannot be determined    E.  None of these



31. A ladder is leaning against a house so that the top of the ladder is 12 feet above the ground.  The angle with the ground is 51.  How far is the base of the ladder from the house?


A.  7.6 ft		B.  9.7 ft	C.  15.4 ft	  D.  14.8 ft	    E.  None of these




32. The eyes of a basketball player are 6.08 feet above the floor.  The player is at the free-throw line, which is 15 feet from the center of the basket rim.  The rim is 10 feet above the floor.  What is the angle of elevation from the player’s eyes to the center of the rim?

[image: j0288972]6 ft
10 ft



33. Find the height in feet of the Eiffel Tower if the angle of elevation from the base is 85.361 and the distance from the center to the outside of each leg is 80 feet.












Circles: Arcs and Angles


34. A wall clock has an area of 452.4 square inches. What is the area of the sector formed by the hands of the clock when it is 4:00?
113.1in2
301.6 in2
120 in2
150.8 in2

35. What is the value for x in the given figure? xo
25o
115o



90
130
50
57.5









36. Refer to the diagram. If C is the center of the circle, what is the measure of arc DE?
130D
G
C
E
F
65O

65
50
25


37. A quiche is sliced into 8 equal pieces. The arc length of one piece of quiche is 6.28 inches as shown. What is the diameter of the quiche?
8 in.
16 in.
 12 in.
10 in.


Find each needed measurement given the following information and the picture below:


        is the diameter, .
		A
D

38.  Arc AD = _______

39.  Arc BC = _______E


40. 
 = _______B

C






Parallelograms and Quadrilaterals 


41. Opposite angles of a parallelogram are _________________.
	
a. Sometimes congruent
b. Always congruent
c. Complementary
d. Supplementary

42. Which of the following is a property specific to rectangles that is not true for other parallelograms?
a. Diagonals bisect each other.
b. Diagonals are congruent.
c. Diagonals are perpendicular.
d. Diagonals bisect pairs of opposite angles.

43. Given square MNOP. The perimeter of MNOP is 72cm, NO = 2x + 6. Find x.

a. x = 15
b. x = 12
c. x = 9
d. x = 6


44. Given the diagram below. mD = 3x + 4, find x.
110°
A
B
C
D

a. x = 80
b. x = 22
c. x = 66
d. 
x = 

45. Given the diagram below, find mE.
[image: Inline image kite1.gif]
a. mE = 130
b. mE = 65
c. mE = 50
d. mE = 115



Fill in the blank with “sometimes”, “always”, or “never” for #20 - 24.

46)  A rectangle is ___________________ a trapezoid.

47)  A rhombus ___________________ has 4 congruent angles.

48)  A square is ___________________ a parallelogram.

49)  A rectangle is ___________________ a rhombus.

50)  A quadrilateral with perpendicular diagonals are _________________a rhombus. 


51. Use the information in the diagram to solve for x.  Then find the values of the missing interior angles. Show your work. 
[image: Inline image problem 8.gif]										
														       

						  
   





x = __________			 = _________			 = _________

[image: ]
52. Find the value of each variable in the parallelogram. 


b=________      c=________      d=________
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